Honors Biology - Sex Linked Inheritance Worksheet

1.
In fruit flies, red eyes (XR) are dominant over white eyes.  Draw a Punnett square that shows the results of a cross between a white-eyed male and a heterozygous red-eyed female.








Genotypic Ratio:________________








Phenotypic Ratio: _______________

2.
Duchene Muscular Dystrophy is caused by a recessive allele located on the X chromosome.  Draw a Punnett square that shows how two unaffected people can have a child who has muscular dystrophy.








Genotypic Ratio: _______________








Phenotypic Ratio:  ______________


b.  Is the child with muscular dystrophy male or female?  ____________


c.  What is the probability that the couple’s next child will have muscular     

    dystrophy?  _____________

d.  What percentage of the couple’s male children will probably have dystrophy? 

      ______________


e.  What percentage of the couple’s female children will probably have 

     dystrophy?  _________________

3.
Hemophilia is caused by a recessive allele on the X chromosome.  


a.  Draw a Punnett square that shows how a mother whose blood clots normally can have daughter with hemophilia.








Genotypic Ratio:  _______________








Phenotypic Ratio:  ______________


b.  What is the father’s genotype and phenotype?

4.
Not all sex-linked genes are recessive.  Hypophosphatemia is a dominant allele on the X chromosome.

a.  Draw a Punnett square that shows the possible offspring of a heterozygous

     woman and a man who does not have the disease.

b.  What percentage of the children have hypophosphotemia?


c.  Are males more likely to have hypophosphatemia than females?  Explain.

d.  Draw a square that shows the possible offspring between a normal woman and a man with the disease.







Genotype ratio: ______________







Phenotype ratio:  ______________

e.  What percentage of the children have the disease?

f.  What percentage of the male children have the disease?  Explain.

5.
The following pedigree traces the inheritance of a genetic trait.  
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a.  What type of inheritance does this trait show?

b.  Give the predicted genotype for the following individuals


1.

5.



2.

6.


3.

7.



4.

6.
A cross of a wild-type red-eyed female Drosophila(fruitfly) with a violet-eyed male produces all red-eyed offspring.  If the gene is sex-linked, what should the cross of a violet-eyed female  and a red-eyed male produce?  (Assume that the red allele is dominant to the violet allele)

7.
A woman is a carrier for a sex-linked lethal gene that causes an embryo with the gene to spontaneously abort.  She has nine children.  How many of these children do you expect to be boys?










